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Glossary for Mark Schemes
GCSE examinations are marked in such a way as to award positive achievement wherever possible. Thus, for GCSE Mathematics papers, marks are awarded under various categories.

	M
	Method marks are awarded for a correct method which could lead to a correct answer.

	
	

	A
	Accuracy marks are awarded when following on from a correct method. It is not necessary to always see the method. This can be implied.

	
	

	B
	Marks awarded independent of method.



	
	

	Q
	Mark for Quality of Written Communication (QWC)

	
	

	M dep
	A method mark dependent on a previous method mark being awarded.

	
	

	B dep
	A mark that can only be awarded if a previous independent mark has been awarded.

	
	

	ft
	Follow through marks. Marks awarded following a mistake in an earlier step.

	
	

	SC
	Special case. Marks awarded within the scheme for a common misinterpretation which has some mathematical worth.

	
	

	oe
	Or equivalent. Accept answers that are equivalent.

eg, accept 0.5 as well as 
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Unit 3  Foundation Tier

	Q
	Answer
	Mark
	Comments


	1 (a)
	A and F
	B1
	

	1 (b)
	Always true
	B1
	

	
	Always true
	B1
	


	2 (a)
	B
	B1
	cuboid 

	2 (b)
	Kite, (regular) hexagon, cylinder
	B3
	


	3
	Acute
Obtuse
	B2
	B1 for one correct


	4 (a)
	3.6 (cm)
	B1
	accept [3.5, 3.8]

	4 (b)
	AB
	B1
	

	4 (c)
	Perpendicular to AB drawn
	B1
	


	5 (a)
	14 +
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	M1
	oe

	
	25
	A1
	

	5 (b)
	T

15
P

28
13

N

40
25

12

W

60
45

32

20

L


	B4
	B1 for 13
B1 for 12 and 20
B1 for 25
B1 for 45 and 32
Answers may be on diagram.


	Q
	Answer
	Mark
	Comments


	6 (a)
	Two correct circles shaded
	B2
	B1 any symmetrical pattern with at least two unshaded circles

	6 (b)
	Shades two more circles to produce symmetrical pattern in both mirror lines
	B2
	B1 for either two more shaded and symmetrical pattern in one mirror line
or
shades more than two circles and symmetrical in both mirror lines

	6 (c)
	Shades exactly four circles to produce symmetrical pattern in mirror line
	B2
	B1 any symmetrical pattern with at least two unshaded circles


	7 (a)
	( – 3, 1)
	B1
	

	7 (b)
	False
False
True
	B2
	B1 for one or two correct


	8 (a)
	30 ± 2 (kg)
	B1ft
	ft their graph

	8 (b)
	44 ± 2 (pounds)
	B1ft
	ft their graph

	8 (c)


	140 (pounds) seen
	B1
	

	
	Any correct reading
	B1
	 or 2.2 seen

	
	Scale to match their reading
	M1
	or 140 ÷ 2.2

	
	64 ± 2
	A1
	or 63.6 (...) 


	9
	Isosceles 
correct explanation
	B1
B1
	ie because it has 2 equal sides


	Q
	Answer
	Mark
	Comments


	10 (a)
	Completely correct enlargement allowing ±2 mm
	B2
	B1 for 3 or 2 new sides correctly drawn

	10 (b)
	Attempt to calculate area of enlarged shape divided by area of original shape
or
Attempt to draw tessellation of given shape on their enlargement
	M1
	3 × 3   oe

	
	9
	A1 ft
	


	11
	

× 80 
	M1
	or 1.2 × 70

	
	32
	A1
	

	
	180 – (their 32 + 80)
	M1
	

	
	68
	A1ft
	


	12
	320 ÷ 40 
	M1
	or 8 seen

	
	(320 ÷ 40 ) × 4.5 
or  130 × 4.5 
	M1
	oe

	
	their 8 × 4.5  × 130  
	M1
	oe

	
	4680 p  or ( £)46.80
	A1
	

	12
Alt
	40 ÷ 4.5 
	M1
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	M1
	oe
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 × 130
	M1
	oe

	
	4680 p  or (£)46.80
	A1
	


	Q
	Answer
	Mark
	Comments


	13 (a)
	Any two pairs from:
72 and 1
36 and 2
24 and 3
18 and 4
12 and 6
 9 and 8
	B2
	B1 for one correct pair

	13 (b)
	sight of 27
	B1
	

	
	sight of 23
	B1
	

	
	    23 × 8 
or 23 × 0.85 
or 0.85 × 8
	M1
	184
19.55
6.8

	
	23 × 8 × 0.85
	M1
	

	
	£156.40
	A1
	£156.4 scores B1 B1 M1 M1


	14 (a)
	50 squares used
	B2
	accept [45, 55]
B1 for [35, 44] or [56, 65]

	
	their 50 × 10000
	M1
	

	
	500 000
	A1ft
	ft their 50

	14 (b)
	190 ± 2°
	B1
	

	14 (c)
	Bearing 200 ± 2° degrees constructed from North Point
	M1
	must be at least 2 cm long

	
	Bearing 070 ± 2° degrees constructed from Shopping Mall
	M1
	must be at least 2 cm long

	
	Lines extended to intersect at correct point
	A1
	


	Q
	Answer
	Mark
	Comments


	15
	12 cm or 10 cm or 9 cm seen
	B1
	may be a drawn line

	
	One line drawn with a ruler at any of the above length
	B1
	

	
	2 intersecting arcs of radii equal to remaining lengths and two lines joining arcs intersection with ends of drawn line
	B1
	


	16 (a)
	20 = 2L + 2 × 4
	M1
	oe
eg  their 10 = L + 4
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	M1 dep
	oe

	
	6
	A1
	

	16 (b)
	2r + πr
	B1
	oe

	
	r + r + 3 + 3
	B1
	oe

	
	2r + πr = r + r +3 + 3
	M1
	

	
	r = [1.909, 1.911]
	A1
	accept r =
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	17
	Trial at  4 → 44
	B1
	

	
	Trials at 3.6 → 28.656 
    
  and
             3.7 → 32.153 
	B1
	accept just two answers seen

	
	Trial at 3.65 → 30.377...
	Q1(ii)
	

	
	3.6
	B1
	


	18
	160 ÷ 2 × 3 (= 240)
	M1
	

	
	their 240 ÷ 20
	M1
	

	
	12
	A1
	

	
	A fully correct method with only one computational error or fully correct
	Q1(iii)
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